MAPA4C — Annuities, Mortgages & Budgeting Date:

Lesson 6.5 The Amount and Present Value of an Annuity

Goal: Calculate the amount (future value) of a simple ordinary annuity
Calculate the present value of a simple ordinary annuity

® An annuity is a series of equal payments paid in to@® out of Compound Periods (# times per year)
an account at regular intervals ot Annually: l Semi-Annually:
® In an ordinary simple annuity, payments are made at the end Monthly: ‘ & semi-Monthly:

of each compounding period L
. _ Weekly: 5& Bi-weekly: 5_)_,, x,
e The AMOUNT of an annuity (future value) is the sum of regular

deposits plus interest Quarterly: Daily:
TR

The AMOUNT of an ordinary simple annuity is given by the formul
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This formuécan only be used wh@he&ment interval is the same‘Qgrc.S~ Jlﬁ)%n?ny period

Example Suppose $450 were deposited at the end of each quarter for 1.5 years into an annuity that
earns 10% perygar compounded quarterly —

a) What is the amount of the annuity?

s q = ROG+D) =1
i= 0:10 = 0.025 = usor(lmuz@-‘—.]

n=q¥‘.526 0.0Z.S

The INTEREST of an ordinarySimple annuity is given by the formula I = A — Rn, where I is¥nterest amount

b) How much interest did the annuity earn?

We depesied $U450 xb =337300
The accoundt hOS $25H.4S

. \r\kYQS"’ = fliofl'z'ﬂ-‘-{qg— $&,?‘OO Page 1 of 2
=$134.43
e O\N\mln earned $ 174.98.
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The present value of an annuity is the principal that must be invested TODAY to provide regular payments

R[1-(1+i)™"]
The PRESENT VALUE of an ordinary simple annuity is given by the formula PV = —————————= where
- i
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This formula canC only b?t%é,(r\l‘v e% thg; yment intefval ane w@npounding period

N\
‘ Victor wants to withdraw $7QQakthe endof each month f@r 8 months)starting 1 month fronj

ompounded moniily

Example

now. His bank account earn

a) How much must Victor deposit in his account TODAY to pay for the withdrawals?

PV =300 [i- (1#0.0045) |
Pv=7 = 1- (1+0.0
3200 045)

i- 21%55 = 0.0045 3 0.00835
nech = 3%%.29

600 \I\(.‘\'\)( m“ﬁ‘\ deVOSr’ i ngg;gﬁ

The INTEREST of an ordinary simple annuity is given by the formula I = Rn— PV , where I is interest

b) How much interest did the annuity earn?
Vichr wJill withdraw) $7F00 * 8 = $5600.
\tchir depostied { 54&§8. 23

Inleces) = €5¢00 - $5U8E-2¥ = /UL 7

Practice: Page 415 #3b, 6bc, 7bc, 9
Page 423 #2ab, 4ad, 9
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